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1 Match conditions to results, and make a sentence with a real condition
(called a “real conditional” sentence):

For example:

1-E

Ecnu Tbl 3aBefellb cobaky, (To) Tebe npuaéTcs exenHEBHO €€ BbirynnBaTh.

YESIi ty zaviDYOSH saBAkoo (to) tiBYE priDYOtsa yizhyDNYEVna yiYO vyGOOlivat.
If you get a dog, you’ll have to walk it daily.

Condition Result
1. Tl 3aBefewb cobaky A. HyXXHO XopoLlo caaTb BblMYCKHbIE 9K3aMeEHbI
ty zaviDYOSH saBAkoo NOOZHna kharaSHO zdat vypooskNYie igZAminy
You get a dog You’ll have to pass final exams with good results
2. Tbl KaTancsa Ha Benocunene B OeTCTBe B. Tenepb 9 €€ BO3bMYy nNovnTathb
ty kaTALsya na vilasoPYEdye v DYETStvye [ tiPYER ya yiYO vazMOO pachiTAT
You could ride a bike as a child Now I’ll take it to read
3. Xouellb NOCTYNUTb B YyHUBEPCUTET C. Korpa Tam 6enble Houu
KHOchesh pastooPEET v oonivyersiTYET kagDA tam BYElyie NOchi
You want to enter a university When there are white nights there
4. Tebe xapko D. [laBan nepecsanem B TEHb
tiBYE ZHARka daVAY piriSYAdyem f tyen
You are hot Let’s move to the shade
5. Y 1ebs BbicOKas TemnepaTtypa E. Tebe npupérca exxegHEBHO €€ BbIr'yNnuBaTb
00 tiBYA vySOkaya timpiraTOOra tiBYE priDYOtsa yizhyDNYEVna yiYO vyGOOlivat
You have high fever You'll have to walk it daily
6. Tbl y>Xxe npouunTan aTy KHUry F. MHe npuaéTcs exaTb JOMOM Ha Takcu
ty ooZHE prachiTAL Etoo KNEEgoo mnye priDYOtsa YEkhat daMQY na takSEE
You have already read this book I'll have to take a taxi home
7. Nrpa 3aKOHYMTCS NO34HO G. Tbl 1 cenyac cmoxelllb
igRA zaKONchitsa POZna ty i siCHAS SMOzhysh
The game finishes late You'll be able to do it now too
8. Y exaTb B CaHkT-leTepbypr H. BoamoxHoO, aTO rpunn IS
oosh YEkhat f sankt-pitir BOORK vazMOZHna Eta greep LAN GUAGER‘E mengolanguages.com
To go to Saint-Petersburg It might be the flu AN ADVENTU oowo
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2 Using your own ideas, finish the sentences with an unreal condition or a hypothetical result.

1.

4 6bin(a) 6l beaymHO cyacTnme(a),
ya byl / byLA by biZOOMna SHCHAsliv(a),
| would be deliriously happy

Ecnu 6bl 9 ceronHa Bbibupan(a) ceolo byayLlyio npodpeccuio,
YESIi by ya siVOdnya vybiRAL(a) svaYU BOOdooshchuyu praFYEsiyu,
If | were choosing my future occupation today,

Ecnu 6bl MeHs HasBanu B YecTb babyluku/oenyLuKu,
YESIi by miNYA naZVAli f chest BAbooshki/DYEdooshki,
If | were named after my grandmother/grandfather,

5 6bl oueHb Ucnyrancsa/vcnyranace,
ya by Ochen ispooGAlsya/ispooGAlas,
| would be really scared

Ecnu 6bl 5 cHan(a) punbm,
YESIi by ya snyal(A) feelm,
If | made a movie,

4 6bl nepeexan(a) xuTb B Poccuio,
ya by piriYEkhal(a) zhyt v raSEEyu,
| would relocate to Russia

Ecnu 6bl 5 Mor(na) NpoXuTb OAMH OEHb CBOEW XM3HU eLLé pas,
YESIi by ya mok/magLA praZHYT aDEEN den svaYEY ZHYZni yiSHCHO ras,
If | could relive a day of my life,

5 6bl He noBepwun(a) ceoum rnasam,
ya by ni paVYEril(a) svaEEM glaZAM,
| wouldn’t believe my own eyes
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3 Convert sentences with unreal conditions from “past tense + 6bl + subject, ... 6bl + past tense
to “singular imperative + subject, ... 6bl + past tense” and vice versa.

1. Mpuexan 6bl 4 Ha OecATb MUHYT NO3Xe, A bbl ero He 3acTarn.
priYEkhal by ya na DYEsit miNOOT POzhe ya by yiVO ni zaSTAL.
Had | arrived 10 minutes later, | would have missed him.

2. Ymena 6 s Tak TOpTbl Nevb, 9 6 CBOIO KOHAUTEPCKYIO OTKPbINA.
ooMYEla b ya tak TORty pyech, ya p svaYU kanDEEtirskooyu atkRYla.
If | could bake cakes like that, | would open my own bakery.

3. Byab Tbl YyTOYKY MOBbILLIE, Thl Obl MOr 4OTAHYTbCA [0 NOTOMKA.
boot ty CHOOtachkoo paVYshe ty by mog datiNOOtsa da patalKA.
If you were a little bit taller you could reach the ceiling.

4, Cpenai oH ellé ofuH war, oH 6bl TOYHO ynan.
ZDYElay on yiSHCHO aDEEN shak on by TOCHna ooPAL.
If he had made one more step he would have definitely fallen down.

5. Mpennoxu a en noexaTb B EBpony, oHa bbl, HaBepHOE, cornacunacs.
pridlaZHY ya yey paYEkhat v yivROpoo aNA by naVYERnaye saglaSEElas.
Had | offered her to go to Europe, she would have probably agreed.

6. Tak YTO, He noTepsn 6bl 4 TenedoH B TOT AeHb, HE BCTPETU Bbl CBOIO BYOYLLYIO XEHY.
tak shto ni patiRYAL by ya tiliIFON f tot dyen ni FSTRYEtil by svaYU BOOdooshchooyu znyNOO.
Thus, had | not lost my phone that day, | wouldn’t have met my future wife.
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2-G

1 Ecnu Tbl kKaTanca Ha Benocuneae B AeTCTBe, (TO) Thbl U CENYAC CMOXELLb.
YESIi ty kaTALsya na vilasoPYEdye v DYETStvye, (to) ty i sSiCHAS SMOzhysh.
If you could ride a bike as a child, you'll be able to do it now too.

3-A

Ecnu xo4yellb NOCTYNUTb B YHUBEPCUTET, (TO) HYXXHO XOPOLLO CAATb BbIMYCKHbIE 9K3aMEHbl.

YESIi KHOchesh pastooPEET v oonivyersiTYET, (to) NOOZHna kharaSHO zdat vypooskNYie igZAminy.
If you want to enter a university, you’ll have to pass final exams with good results.

4-D

Ecnu Tebe xapko, (To) paBal nepecsanem B TeHb.
YESIi tiBYE ZHARKa, (to) daVAY piriSYAdyem f tyen.
If you are hot, let’'s move to the shade.

5-H

Ecnu y Teba Bbicokas TemnepaTypa, (TO) BOSMOXHO, STO rpunm.
YESIi oo tiBYA vySOkaya timpiraTOOra, (to) vazMOZHna Eta greep.
If you have high fever, it might be the flu.

6-B

Ecnu Tbl yxxe npoynTan aTy KHUry, (TO) Tenepb S €€ Bo3bMy NOUNTaTb.

YESIi ty 00ZHE prachiTAL Etoo KNEEgoo, (to) tiPYER ya yiYO vazMOO pachiTAT.
If you have already read this book, now I'll take it to read.

7-F

Ecnu nrpa 3akoHYMTCA N03aHO, (TO) MHE NPUOETCS exaTb JOMOMN Ha TakCu.

YESIi igRA zaKONchitsa POZna, (to) mnye priDYOtsa YEkhat daMOY na takSEE.
If the game finishes late, I'll have to take a taxi home.

7-C

Ecnu yx exatb B CaHkT-lNeTepbypr, To koraa Tam 6esbie Houu.

YESIi oosh YEkhat f sankt-pitir BOORK, to kagDA tam BYElyie NOchi.

If one decides to visit Saint-Petersburg, they should do it when there are white nights there.
Literally: If to go to Saint-Petersburg, then when there are white nights there.
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2 Sample answers:

1. 9 6bin(a) 6b1 BesymHo cyacTnme(a), ecnu 6ol BbiMrpan(a) MUNIUOH.
ya byl / byLA by biZOOMna SHCHAsliv(a), YESIi by VYgral(a) miliON.
| would be deliriously happy if | won a million.

2. Ecnu 6bl 9 cerogHsa Bbibupan(a) ceoio byaylyio npodpeccuto, a 6bl ctan(a) Bpavom.
YESIi by ya siVOdnya vybiRAL(a) svaYU BOOdooshchuyu praFYEsiyu, ya by STAl(a) vriaCHOM.
If | was choosing my future occupation today, | would become a doctor.

3. Ecnu 6bl MeHs HasBanu B YecTb BabyLwkn/nenyLwKu, MeHs 6ol 3Banu Npavaa.
YESIi by miNYA naZVAli f chest BAbooshki/DYEdooshki, miNYA by ZVAli iraEEda.
If | was named after my grandmother/grandfather, my name would be Iraida.

4. 4 6bl o4eHb ucnyranca/vcnyranacb, ecnu 6bl yeuaen(a) Ha ynuie oMHo3aBpa.
ya by Ochen ispooGAlsya/ispooGAlas, YESIi by ooVEEdil(a) na OOlitse dinaZAVra.
| would be really scared if | saw a dinosaur in the street.

5. Ecnu 6bl 9 cHan(a) punbm, aT0 6blNa HbI KOMEONS.
YESIi by ya snyal(A) feelm, Eta byLA by kaMYEdiya.
If | made a movie, it would be a comedy.

6. 9 6b1 nepeexan(a) xuTb B Poccuio, ecnu 6bl Tam He BbiNo Tak XONOO4HO.
ya by piriYEkhal(a) zhyt v raSEEyu, YESIi by tam NYE byla tak KHOladna.
| would relocate to Russia if it wasn’t so cold there.

7. Ecnu 6bl 9 mor(na) NpoXuTb OAMH OeHb CBOEN XN3HU eLlé pas, 3TO Bbin bbl AeHb, Koraa s nepsbi pas 6bin B [UcHenneHge.
YESIi by ya mok/magLA praZHYT aDEEN den svaYEY ZHYZni yiSHCHO ras, Eta byl by dyen, kagDA ya PYERvyi ras byl v disneyLENdye.
If I could relive a day of my life, it would be the day when | was in Disneyland for the first time.

8. 4 6bl He noBepwusn(a) ceoum rnasam, ecnu bl yeuaen(a) bopil, B MEHIO B aMepUKaHCKOM pecTopaHe.

ya by ni paVYEril(a) svaEEM glaZzAM, YESLi by ooVEEdil(a) borshch v miNYU v amyeriKANskam ristaRAnye.
| wouldn’t believe my own eyes if | saw borsch on the menu in an American restaurant.
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3 1. Mpuenb s Ha OecaTb MUHYT No3Xe, g bbl ero He 3acTarn.
priYET ya na DYEsit miNOOT POzhe, ya by yiVO ni zaSTAL.
Had | arrived 10 minutes later, | would have missed him.

2. Ymel 9 Tak TopThbl NneYb, 1 6 CBOK KOHAUTEPCKYIO OTKPbINA.
0OMYEY ya tak TORty pyech, ya p svaYU kanDEEtirskooyu atkRYla.
If | could bake cakes like that, | would open my own bakery.

3. Bbin 6bl Thbl YYTOUKY MOBSILLE, Thbl Obl MOI AOTAHYTbCA OO NOTO/NKA.
byl by ty CHOOtachkoo paVYshe, ty by mog datiNOOtsa da patalKA.
If you were a little bit taller you could reach the ceiling.

4. Cpenan 6bl OH elé oauH LWwar, oH 6bl TOYHO ynan.
ZDYElal by on yiSHCHO aDEEN shak, on by TOCHna ooPAL.
If he had made one more step, he would have definitely fallen down.

5. Mpepnoxun 6bl 9 et noexaTb B EBpony, oHa bbl, HaBepHOe, cornacunacs.
pridlaZHYL by ya yey paYEkhat v yivROpoo aNA by naVYERnaye saglaSEElas.
Had | offered her to go to Europe, she would have probably agreed.

6. Tak 4TO, He noTepsan g TenedoH B TOT AeHb, HE BCTPETWUN Obl CBOIO DYOYLLYIO XEHY.

tak shto ni patiRYAY ya tiliFON f tot dyen ni FSTRYEtil by svaYU BOOdooshchooyu znyNOO.
Thus, had | not lost my phone that day, | wouldn’t have met my future wife.
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